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25/AGS/M-2023-05 Booklet Series
Candidate’s Roll Number

A :
Question Booklet g
AGRICULTURE ENGINEERING ’
Time Allowed : 2 Hours Paper—I Maximum Marks : 200

Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

This Question Booklet contains 100 questions in all.

All questions carry equal marks.

Attempt all questions.

Immediately after commencement of the examination, you should check up your

Question Booklet and ensure that the Question Booklet Series is printed on the top

right-hand corner of the Booklet. Please check that the Booklet contains 32 printed

pages including two pages (Page Nos. 30 and 31) for Rough Work and no page or
question is missing or unprinted or torn or repeated. If you find any defect in this

Booklet, get it replaced immediately by a complete Booklet of the same series.

5. If there is any sort of mistake either of printing or of factual nature, then out of English and
Hindi versions of the questions, the English version will be treated as standard.

6. You must write your Roll Number in the space provided on the top of this page. Do not write
anything else on the Question Booklet.

7. An Answer Sheet will be supplied to you along with Question Booklet to mark the answers.
You must write your Name, Roll Number, Question Booklet Series and other particulars
in the space provided on Page-2 of the Answer Sheet provided, failing which your
Answer Sheet will not be evaluated.

8. You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is
printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint
pen in the space provided on Page-2 of your Answer Sheet. If you do not encode or fail to
encode the correct series of your Question Booklet, your Answer Sheet will not be
evaluated correctly.

9. Questions and their responses are printed in English and Hindi versions in this Booklet.
Each question comprises of four responses—(A), (B), (C) and (D). You are to select ONLY ONE
correct response and mark it in your Answer Sheet. In case you feel that there are more than
one correct response, mark the response which you consider the best. In any case choose
ONLY ONE response for each question. Your total marks will depend on the number of
correct responses marked by you in the Answer Sheet.

10. In the Answer Sheet, there are four circles—®), ®), © and @ against each question. To
answer the questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle
of your choice for each question. Select only one response for each question and mark it in
your Answer Sheet. If you mark more than one circle for one question, the answer will be
treated as wrong. Use Black/Blue ink ballpoint pen only to mark the answer in the
Answer Sheet. Any erasure or change is not allowed.

11. You should not remove or tear off any sheet from the Question Booklet. You are not allowed
to take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer
Sheet to the Invigilator. Thereafter, you are permitted to take away the Question Booklet
with you.

12. Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide at their discretion.

13. Candidates must assure before leaving the Examination Hall that their Answer Sheets will be

kept in Self Adhesive LDPE Bag and completely packed/sealed in their presence.
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1. A two-dimensional flow field is
represented by ¢ =2xy— x. The
value of the velocity V at point
1,2) is

(A) 212
(B) 31/2
(C) 51/2
(D) 132

2. Chezy’s formula is given by

A) V=CJymi

B) V=cVm2i
) V=c2Vmi?
D) V =cVm22

3. The equation of motion for
laminar flow of a real fluid is
known as

(A) Euler’s equation

(B) Bernoulli’s equation
(C) Navier-Stokes equation
(

D) Hagen-Poiseuille equation

4. Which statement is correct
about flow in open channel at
critical depth?

(A) The discharge is minimum
for a given specific energy.

(B) The discharge is maximum
for a given specific energy.

(C) The discharge is minimum
for a given specific force.

(D) The discharge is maximum
for a given specific force.
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If a tank discharges water from
an orifice under variable head h,
the water surface will be lowered
at constant velocity, then the
surface area of the tank varies
as

(A) h1/2

(B) 1/n!/?

(€ h

(D) 1/h

Which of the following is a
dimensionless number?

A) Manning’s coefficient

Hazen-Williams coefficient

Y

) Chezy’s coefficient

P p—

D) Pipe friction factor

A fast centrifugal pump impeller
will have

A) forward facing blades
B) radial blades

(
(
(C) backward facing blades
(

D) propeller-type blades

The specific speed of a pump
has the dimensions of

(A) MOL3/47-3/2
B) M°LOTO
(C) M—1/2L1/2T—1/4
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. T fg-mEmfl vetE & 1 HHew
0=2xy—-x 2l g (L2 Wam VvV =
IR

(A) 21/2
(B) 31/2
(C) 52
(D) 13%/2

2. <sit o1 wfieor fhae foan mn 27
A) V =CJmi

(B) V =CVm?i
(C) V =C*Vmi?

D) V =CVm?i?

3. fordl amdfas g9 & Aft e & fow
T 1 TR FEaTdl §

(A) I T FHIRLT
(B) SR TEfeRtor
(C) Afow-we Tt
(D) TH-UISse HTw

4. G I ¥ FHifw Tels T YaE & R
H -9 A Tl 27
A) @ T fEER e o=t % fau
e (o) =mam 2
(B) & w fedt fafiw =t & fow
e (fewamst) rferemam 21
(©) feu ™ freh fafsre sa & fau
e (fewast) =am 2)
D) fer ™ foeft fafie @@ & fog
e (fewart) wiftrraw 2|

25/AGS/M-2023-05/15-A

GET IT ON
Google Play

5. ¢ foret 3% A w5 h & d8d T
Bz 4 ot Fewerar g, ot i wag
e o @ = fef, afe 3% f gae
1 &AhA FedT 8

(A) nl/2
(B) 1/h'/?
(C) h

(D) 1/h

6. Frfefad & & F=-t ws fm
(ST Tfed we &7

(A) B e

(B) oi-fafermra 1o

(C) =ft e

(D) g o ek ()

7. T& OF hEcATl (VEERIA) W h

TR & soig el
(A) AT il AR GE@ I =S
(B) eaat st

(C) f® F IR g@ I =
(D) TR 2139 (3) ¥ w8

8. U v i Tk wfe it fom arelt 2
(A) MOL3/4T-3/2

mOLor0

V212174

1707,3/47-1/2
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If two pumps identical in all
respects and each capable of
delivering a discharge Q against
a head H are connected in
series, the resulting discharge is

(A) 20Q against a head 2H
(B) 20Q against a head H

(C) Q@ against a head 2H
(D

) QY2 against a head +2H

Which of the following pairs are
correctly matched?

1. Standard penetration test :
In-situ parameters of the
soil

2. Vane shear test : Cohesion

3. Consolidation test : Bearing

capacity
Select the correct answer using
the codes given below.

(A) 1 only

(B) 1 and 2 only
(C) 2 and 3 only
(D) 1, 2 and 3

In which of the following pairs of
soil types would one anticipate
negative pore pressure, when
subjected to shearing?

(A) Normally consolidated clay
and dense sand

(B) Overconsolidated clay and
loose sand

(C) Loose clay and over-
consolidated clay
(D) Dense sand and over-

consolidated clay

25/AGS/M-2023-05/15-A
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The ultimate strength of the
material is determined by the
stresses in

(A) horizontal plane
(B) minor principal plane
(C) major principal plane

(D) potential failure plane

Permanent wilting point is
(A) a characteristic of a plant
(B) a soil characteristic

(C) a soil characteristic
modified by the crop

(D) dependent on soil-water-
plant-fertilizer interaction

Application efficiency of
irrigation is best defined as the
ratio of

(A) water for normal consump-
tive requirement to water
depleted from the root zone

(B) water actually stored in the
root zone to the water
delivered to the farm

(C) water reaching the farm to
water released from the
head works

(D) water actually delivered to
the farm to water actually
reaching the farm
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9. ¥fe 3 4q u+fi YHR ¥ g9 & 3 T

10.

11.

T 28 H & faeg femst Q 3 @ wam
2, 21 U9 AEen ¥ g2 g0 §, o1 giomd
fegarst 2m

(A) e 2H % foeg 20

(B) ¥ H & foeg 20

(C) TE2H & foeg Q

(D) ve «/2H = faeg Q12

Ffafgd & @ FF-w Se '@
gHferd 87
1. WHH Yo whem—g % F-Hig

e
2. a9 WYY eI —HTHSE
()
3.  THFA FeI—agd &wdl
= fou MU g w1 ITE Wb TE IW
|
(A) Faa 1
(B) waa 1 3R 2
(C) ot 2 3R 3
(D) 1,2 3R 3

frafafea @ @ fFa wwr & g

T AUEIY & qad H/OMHS (Afed) Tg

TETd I 3T I ST TRl 77

(A) AR R guferd F gt o =+t
kXl

(B) ferek sieft g ot firdh ofi dieft W@

(C) &l iR sTcafees seft g5 fomdt
() fort

(D) =t W 3R sTcafess St g5 Feet
(F) fort
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12. T il W WRE 9H HNE 4 9

13.

14.

fefafga 4 @ fFe 9@ # fgifi@
2t 27

(A) afes aa
(B) o UM qA
(C) < gu™ aa

(D) wufaa fawerar aat

WY % fore ot et fog 2
(A) Toreft qa it ueh ferrar
(B) Tugh i we ferroan

(C) wua 3w wenfed fadt it w
forgrean

(D) fHEl-umi-dig-3eitsh  Faen W
Rt

=g it ST e o gey ITst
TE TohTeh 3TgaTa o &9 § ufterioa feran
T 27

(A) |MHET U I IEIIRAT o AT
gt A S &9 ¥ @eH 8 T g

(B) S & ¥ dnafash wfad ot @
Td qo T T I

(C) ©d T Tgd W UHl ¥ 7€ 999 °
AEETSIRIE

(D) 9%qa ¥ @d & fou afvd ot &
IrEad § WA % 5 @l I
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17.

In a well-drained soil, the useful
moisture for plant growth
essentially comes from

(A) water of adhesion
(B) hygroscopic water
(C) gravitational water

(D) capillary water

For the irrigation of a crop, the
base period B in days and delta
(A) in meters are related to the

duty D in ha/(m?3/s) at the field
as

(A) D=[0-864 B/A|
(B) D=[864B/A|
(C) D=[0-864 A/B]

(D) A=[8-64 D/B]

Which of the statements given
below is not correct?

In a trickle irrigation system

(A) the evapotranspiration is
practically eliminated

(B) deep percolation and runoff
are practically eliminated

(C) water application efficiency
is very high

(D) the fertilizer can be applied
economically along with the
irrigation water

25/AGS/M-2023-05/15-A
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The maximum application rate
by sprinklers is limited by

(A) the prevailing wind velocity

(B) the prevailing humidity and
radiation

(C) the infiltration capacity of
the soil

(D) quantity of water available

Which formula will be used
in designing a concrete lined
irrigation channel?

(A) Lacey’s formula
(B) Manning’s formula
(C) Continuity equation

(D) Kennedy’s formula

The average moisture extraction
of plants from the first 25%
(near the earth surface) of the
soil depth is

(A) 35%
(B) 40%
(C) 45%

(D) 50%
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15. =8t - acf g 3@, a9 & 18. fSier s/ Afhan gy & fora

gfg & foru 3wmft @ sfer &9 @

T Hiftd 2t 27

AT 8

() Frf & P g @ (A) T e

(B) TTEURAITUS S A (B) formm mmdar i yeprar
(C) TR e | () firdt 1 siqwie
(D) HfITeRT STt &

16. forefl waa & fa=ms & fou, @ e@fy
B fei @ 3R gear (A) Wi #, wa i

(D) 3UcTed STl el |

3, . 19. hiz AT arcl fG=rg = e @i fesme
%:@Dﬁha/(m /5) %, 0w @1 4 F | e st 1 3w R Sam?
Tafea 27
(A) D=[0-864 B/A] (A) T B
(B) D=[8-64 B/A] (B) &f wrem
(C) D=[0-864 A/B] (©) Wi
(D) A=[8-64 D/B]

(D) i<t HEET
17. frfafed & @ $H-81 %o wdt T8 27
et e et 20. it 1 weeht 25% TeUE # (geft A
(A) STHER-IeES AEREE ®7 § Odg & 9@) § del g of|d A
THTE B ST @ oo 2
(B) TR frma IR 31vaTe i SATeRin (A) 35%
w9 Y GATY T fem sma 2
(C) V@ gy I@al SEd  A(UH (B) 40%
Bl &
(C) 45%
(D) 3d* &l =E % uH % @
Toraearfiar & uges foram S weRar 2 (D) 50%
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21. For pumping sewage water, the
most suitable type of impeller is

(A) open impeller

(B) closed impeller

(C) semi-open impeller
(D) non-clog impeller

22. A salt concentration of
3200 ppm in a sample of water
is equivalent to the electrical

conductivity in millimhos/cm
of value

(A) 20

B) 5

) 32

(D) 0-032

23. A soil sample was found to have
ESP=20%, pH=7-5 and EC =
6 mmhos/cm. This soil is called

as

(A) saline soil

(B) saline-alkali soil
(C) alkali soil

(

D) acidic soil

24. Dupuit-Forchheimer
tions are used under

assump-

(A) steady-state condition
(B) unsteady-state condition

(C) steady and
conditions

unsteady

(D) Not applicable

25/AGS/M-2023-05/15-A
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Which drainage system is used
for draining of small scattered
depressions?

(A) Parallel drainage system
(B) Random drainage system
(C) Bedding drainage system

(D) Parallel open ditch system

Gypsum is used for reclaiming
(A) saline soil

(B) alkali soil

(C) acid soil

(D) black soil

The side slope of open ditches
constructed in sandy loam soil

is

A) 1:1
(B) 15:1
(C) 2:1
(D) 3:1

A watershed of 1000 hectares is
discharging through a drain at
an average ratio of 5 m3/s. The

drainage coefficient is

(A) 432 cm
(B) 36 cm
(C) 18 cm
(D) 0-18 cm
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21.

22.

23.

24.

o 9 H U FH kU, e
WY TR (UG A1) T TEHR
H

(A) el g

(B) e R

(C) TE-gaT TR

(D) TR-3FehTE dTAT SR

ot % Tk Tgd #3200 fofteudo
#f @ "iEzar g1 a8 FHfaigd § "
ora forg =mateRar (fefmi /@0 o wm
H) % e 27

it & wF T & ESP=20%,
pH=7.5 3 EC = 6 ficfimi/@otfo
o T 36 TS ) el ST @

TR -BIEREW WA 1 39 fohd
feufa & starfa fomen smar 27

(A) TR staeen i feufa

(B) R stazen =it feufa

(C) Teor qen stfeer srawen i feurfa
(D) @m] e 21
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3 forat 7u Tl @ WA A P ¥
fau form Sa-femdt gomelt w6 S
fora STram 27

Noaw =1 3w form firgt & guma &
fore fopa Sfar 27

(A) i frg
(B) = fig
(C) et figh
(D) =redt fagt

s ame fugt # faffa geft @l =
w4 S Bl @

1000 TRW| & UH dL-g W
5 ¥4 HiX ufd dehe & f|d gda o
T el % WIEAH W S (e 7 @l
B Tor-fepreft Toriek 2

A) 4-32 Ho Ho

(

(B) 36 ¥o o
(C) 1-8 Fo o
(

D) 0-18 ®o o
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29. A geological formation which is
essentially impermeable for flow
of water even though it may
contain water in its pores is

called

(A) aquifer
(B) aquifuge
(C) aquitard
(

D) aquiclude

30. Cavity well is most suitable
under which of the following
conditions?

(A) Aquifer with fine sand and

small thickness

Aquifer with coarse sand
and small thickness

Aquifer with coarse sand
and large thickness

Aquifer with coarse sand
and hard covering layer

31. A stream that provides water to

the water table is termed as
(A)
B)

affluent
( influent
(C) ephemeral
(D) effluent

32. Which type of soil formation

has higher porosity?
Shales

=

(

(B)
©)
(D)

Gravel
Sand
Clay

25/AGS/M-2023-05/15-A
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Which is the correct relationship
for coefficient of storage (S)?

(A) S =y,blo+np)
(B) S=1yble-np)

(04
© s=vwb(nﬁ)
(D) s=vw(’;§°}

For wunconfined aquifers, the

storage coefficient

(A) is essentially same as the
specific yield

(B) does not exist

(C) is essentially same as the
specific retention

(D) is essentially same as the

porosity

What is the P-A ratio?

(A) S50% size of gravel pack/
S50% size of aquifer

(B) 10% size of gravel pack/
10% size of aquifer

(C) 10% size of gravel pack/
S50% size of aquifer

(D) 10% size of gravel pack/
90% size of aquifer

The dimension of hydraulic

resistance is

(A) T

(B) LT !

©) L/T7?

(D) Dimensionless
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29. TH Il HEA, S OAE % YER %
foru erfia &9 @ 39w B, 9o & U
fesgt & a2, T e Sa 2
(A) TR (STerya)

(B) Uferrst
(C) uferer
(D) Ufereres

30. Hfet parf fraferfad 9 & form wfifeafa

T Wl IUTH 27

(A) T W IR B WEE 9.
et (STerye)

(B) Tl @ 3R BI WIEE el Ut
(Sraryd)

(C) Il @ 3R =gl g aren Ufewt
(Sraryd)

(D) AR 3@ 3R HIR e W Tl
et (Serye)

31. SA-TR F I 30T HUH el O
I FAT gl ST 27

32. g ger f U fH g= § wya
At Bt 87

(A) et
(B) *hg
(C) =
(D) Teertt forgh
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IR & T (S) &% T - wd
ey 87

(A) S =y bl +np)

(B) S=vubl-np)

o

(€) S= ow(nﬁj

D) S= ”“J
(D) YW(B

anrféra’rraa‘ tfrrd  (STagdi) & for,

HSTT J0TTeh

(A) wora: fafre feEr (fiee) * @
e

(B) 1 3ff&ica 7&i &

(C) Hera: fafite semo % g & @

(D) Held: YAl % T & 2

flo-To TgdTd 1 27

(A) 50% SR U wH ATHER/50%
et (ST i SATHR

(B) 10% <SRl ¥ @l 3R/ 10%
UfeRH (SITYd) I TR

(C) 10% &R ¥ & AHR/50%
et (STeTY) i SATHR

(D) 10% oKl ¥ @1 3TMHR/90%
UfeRH (SITYd) ol SRR

HECURERIGREEARC DIt A
(A) T

(B) LT7!

(C) L/T7?

(D) smTRfEd
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37.

38.

39.

40.

The class IlI-type land is
(A) good for cultivation

(B) moderately
cultivation

good for

(C) suitable for cultivation with
major conservation farming
practices

(D) unsuitable for cultivation

As per LUCC, soil depth range
‘very shallow’ proposed under
which land capability class?

(A) II
(B) III
C) IV
(D) V

The shrinkage factor of an old
map is 24/25 and the RF is
1/2400, then the corrected scale
for the map is

(A) 1/2400
(B) 1/2500
(C) 1/600

(D) 1/60000

The fore bearing of line AB is
209°. The included angle ABC is
341°. The FB of line BC is

(A) 550°
(B) 330°
(C) 10°
(D) 190°

25/AGS/M-2023-05/15-A
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The three-point problem fails
when an instrument station lies

(A) on the great circle

(B) in any of the segments
formed by the great triangle
and great circle

(C) on the orthocentre of the
great triangle

(D) Both (B) and (C)

In chain surveying, per-
pendicular to a chain line is set
out by

(A) a theodolite

(B) a prismatic compass
(C) a clinometer

(D) an optical square

Pick out the
statement.

incorrect

(A) Two contour lines intersect
in the case of a vertical cliff.

(B) A watershed crosses the
contour lines at right
angles.

(C) The direction of steepest
slope is along the longest
distance between the
contours.

(D) In the direct method of
contouring, the contours
are not interpolated.

The operation of revolving the
telescope in a horizontal plane
about its vertical axis is called

(A) swinging
(B) transiting
(C) face left
(D) face right
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38.

39.

40.

ot 111 fope wrem Y offiy 27

(A) @t < fore st

(B) @t & fou meam w9 @ 3=t

(C) Yg@ W& FHU A & @I
@t 2 feTe, 39

(D) @t % foru ok

LUCC = 1gdR, fora g amar o &
siaa fugt it s dim Tga 3’
ATl 27

A) I

(

(B) III
C) v
(D) V

TF T qER 1 g e (7h)
24/25 % R ARe Thko (RF)
1/2400 g, af "M & fou gemfea
T 7

A) 1/2400
1/2500
) 1/600

D) 1/60000

,_\A,_\A
Q @

@1 AB &1 310 fegpue 209° 1 it
FU ABC, 341° 2| @1 BC &1 3™

[EETIERS
(A) 550°
(B) 330°
(C) 10°
(D) 190°
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47.

48.

In reciprocal levelling, the
error which is not completely
eliminated is due to

(A) curvature of earth
(B) refraction

(C) non-adjustment of line of
collimation

(D) parallax

Trough compass is used in
(A) compass surveying

(B) chain surveying

(C) plane-table surveying

(D) cross-staff surveying

Which type of greenhouse is
constructed on hilly terrain?

(A) Lean-to
(B) Uneven span
(C) Even span

(D) Ridge and furrow

Which of the following is not the
method to determine slope and
deflection?

(A) Double integration method
(B) Macaulay’s method
(C) Moment-area method

(D) Method of superposition
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When a rectangular section of
a beam is subjected to shearing
force the ratio of maximum
shear stress to average shear
stress is

(A) 20
(B) 175
(C) 150
(D) 125

Mathematical relationship
between the Young’s modulus
(E), Poisson’s ratio (u), and Bulk
modulus (K) is

(A) E=3K(1-2u)
(B) BE=K2-n)

(C) 3K =E(1-2u)
(D) 3u = E(l-2K)

When shear force at a point is
zero, then bending moment at
that point will be

(A) infinity
(B) zero

(C) maximum
(

D) minimum

Bending moment at the centre of
simply supported beam with
uniformly distributed load is

(where w =uniformly distributed
load and [ =span of beam)

A) wil
(B) wl/2
©) wi?/4

(D) wi?/8
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(A) 9=l T Fgha
(B) TadH
(C) THEHA {@T 1 qURISH 9 8

(D) foemoanam (fe)

6 HEE 1 A foRAT ST @

(A) FHITE Haeqor §

(B) W& waewr &

(C) wHdd A (%t 2oTet) Weiaqol §

(D) 9 =% Faeu §

RIS YW W fohE TRR w1 IMHRRd

ST ST 27
() w3

(B) 3TEHH T
(C) wH= &=
(D) Tt 3R et

TN 3T faguu =R fyifia =@ * fag
freafafiaa & 9 ®F-i fofa =t 27

(A) <ren weheR (3feaem) faty
(B) Teret it fafy

(C) et (viwiz) et fafu
(D) guartsree it fafe
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49, 9 W F UH AR TS I TTEIU
(feR) @@ & orefm foren Stmar &, @
ARy UETU  q9d TR 3fEd
STEIT IS T AT Bl 2

(A) 20
(B) 1-75
(C) 150
(D) 125

50. I W (E), W A (W), IR

ook |19 (K) % s Tiorde deie
(A) E=3K(1-2u)
(B) BE=K@2-n)
(C) 3K =E(1-2u)
(D) 3u = E(l-2K)

51. <& fwdt fog W e a1 37 7, @

3 forg W Sk 3ot e
(A) st

(B) =
(C) ferehem
(D) =L

g &9 ¥ faafa ¥R & o faeeh
TUISE oW % hg H e AU @

(el w =99 &9 ¥ foqafd 9 qun
[ =" =1 @)

A) wl

B) wl/2

C) w12/4

52.
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(
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53.

54.

55.

56.

The World Meteorological
Organization (WMO) recom-
mends that the ideal

distribution of rain gauges in
flat region should be at the rate
of one station for

(A) 300 km? to 600 km?

(B) 600 km? to 900 km?

(€) 900 km? to 1300 km?

(D) 100 km? to 300 km?
Orographic precipitation occurs

due to air masses being lifted to
higher altitudes by

(A) the density difference of air
masses

(B) the presence of mountain
barriers

(C) extratropical cyclones

(D) a frontal action

If the maximum depth of a
30 years-10 h rainfall depth at
Patna is 300 mm, then the
30 years-8 h maximum rainfall

depth at the same place is
(A) less than 300 mm

(B) more than 300 mm
(C) equal to 300 mm
(

D) Inadequate data to answer

Chemical that is found to be
most suitable as water
evaporation inhibitor is

(A) ethyl alcohol
(B) methyl alcohol
(C) cetyl alcohol
(D) butyl alcohol

25/AGS/M-2023-05/15-A
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57. The dilution method of stream

58.

59.

gauging is ideally suited for
measuring discharge in

(A) a large alluvial river

(B) flood flow in mountain
stream

(C) steady flow in a small

turbulent stream

(D) a stretch of a river having
heavy industrial pollution

loads

A 60% index of wetness in a
particular year reveals that

(A) rainfall surplus is about
60%

(B) rainfall deficiency is 40%

(C) of the total Ilength of
record, 40% years are under
surplus water

(D) of the total length of record,
60% years are under water
stress

Which of the following

instruments is not connected

with stream flow measurement?

(A) Hygrometer

(B) Electromagnetic flow meter
(C) Sounding weight

(D) Echo-depth recorder
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53.

54.

55.

56.

IEE Iﬁ’?ﬂ-ﬁﬁﬁ e (@W\o THo
o) h Ry & gaR wwaa &=
H auEd w1 oTeN faaw T wWIH
1 T fora aat § g =Tte?

(A) 300 fero o2 & 600 feho Hio 2
(B) 600 feho o2 & 900 fehro Hio 2
(C) 900 ferotio 2 & 1300 feRodio 2
(D) 100 feho o2 & 300 ferotio 2

fFg R0 ¥ 91 % TEEE H AR
FATE % I3 W F HRU G
et 87

(A) aTY FEHAM % HFCE I AR

(B) wadr st st 3ufedrfa

(C) fewrhieata wshara

(D) U SEETH TR

Ife wer ¥ 30 a9-10 =2 i Afehaq
agl i TEE 300 fyorfio B, @ I
TIF W 30 T9-8 ®S HT 3fershan aui
6 g Bt

(A) 300 frotfio & 1

(B) 300 faotfio & 31ferm
(C) 300 fotio o swER

(D) 3IW A & foIu 1oty g

IE TEEA, S S IR STUeE &
Y T i 3Uh IR T R, 2

(A) T stehiEd

(B) THomsa steshiea
(C) ez ewhiea
(D) =YETeet Feahieet
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58.
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39 &

(A) T =gl Sfellg T
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60. Match List-I with List-II : 61. Identify the correct statement.
(A) Fan-shaped catchments
List—I List—II give low-peak and narrow
a. Stream flow with 1. Intermittent hydrographs.
considerable stream (B) Nearly semicircular shaped
groundwater catchments give high-peak
flow throughout and narrow hydrographs.
the year (C) Elongated catchment
b. Stream flow that 2. Perennial stream shapes give high-peak and
carries water broad hydrograph.
most of the year (D) Elongated catchment

but ceases to

h ive high- k
flow occasionally shapes give high-peak and

narrow hydrograph.

c. Stream that 3. Influent stream ) )
does not have 62. In India, a meteorological
any base flow subdivision is considered to be
contribution affected by moderate drought if

it receives a total seasonal

d. Stream that 4. Ephemeral rainfall which is
contributes to stream
groundwater (A) less than 25% of normal
due to seepage value

(B) between 25% and 49% of

5. Effluent stream
normal value

Select the correct answer using (C) between 50% and 74% of
the codes given below. normal value

(D) between 75% and 99% of
normal value

(A) a b c d
2 5 3 4 63. The recession limb of a flood
hydrograph can be expressed
(B) a b d with positive values of
S 4 1 3 coefficients as 9 _
0
at
(C) a b c d (A) Kec
3 4 5 -at
2 (B) aK;®
(C) e—at
(D) a c d )
2 1 4 3 (D) e
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LT W T qFd 1. ARG STAU
TATE o |1 STALRT
EEI

. AU gare s 2. arentE siaam
a9 & TR TH
Ut @A 7 alfed

. S@Y, St fEE 4. 3Tcushiicle Sum
& HII b
IS HLAl

5. dfg YaTel STALRT

f= fou MU g F TN W oEH I
R

=
o
o8
@]
(o

63.

(A) U@ F AHR F SR & FH
B @ R whnt EEgTE
od gl

(B) THIN LTRR TR & TTTg0l
& I=-fImen iR wehil Brggns
T 2

(C) <t SrwEw ATl -

. 3R =gl BEGHTE ol & |
FHl-hfl T8 =9 .
RIS (D) Tt AT it 3=-fareR
3T gl grggms oot B
. SAum, SEeRt ®E 3. 3d:TETE SN
ggﬂg?ﬂ 62. YNd H, UF HEH Hatll 3uEs &l 7eaq

@ ¥yt 7T ST 2, At gad g
gt =t gt

(A) T HE % 25% A wY

(B) WM TH % 25% H 49% &
Eic]

(C) oM™= A &% 50% ¥ 74% &
=

(D) 9| OF % 75% ¥ 99% %
Eic

¢ TESUTE <l aTTEl AT i oM
& YFIcHe Al o 919 U TR S

Gehdl 8, S8 Qr _
0

A) K&
(C) a b c d
3 4 5 2 (B) ak; %
(C) e—at
(D) a c d
2 1 4 3 (D) gat’
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64. The shape of the recession limb
of a hydrograph depends on

(A) base flow only

(B) basin characteristics only
(C) storm characteristics only
(

D) basin and
characteristics both

storm

65. The hydrological
flood routing use

methods of

(A) equation of motion only

(B) continuity equation only

(C) energy equation only

(D) both momentum and
continuity equation

66. Match List-I with List-II :

List—I List—II
a. Rainfall 1. Increased peak
simulator in flood hydro-
graph

b. Interception loss 2. Study of infiltra-
tion characteris-
tics

c. Urbanization 3. Not significant in
maximum flood
computation

d. Soil conservation 4. Reduction in

measures peak in small
and medium

floods
Select the correct answer using

the codes given below.

(A) a b c d
2 3 1 4
(B) a b c d
2 1 3 4
(C) a b c d
4 1 3 2
(D) a b c d
2 3 4 1
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For a watershed the USLE
computes

(A) annual runoff

(B) average annual

discharge

peak

(C) soil erodability factor

(D) average annual soil loss

V-shaped gullies are developed
when

(A) velocity is high but runoff
volume per unit time is less

(B) velocity is less but runoff
volume is more

(C) flow velocity is less

(D) runoff volume is more

Particles, less than 01 mm
diameter, are moved by the
action of

(A) bed load

(B) surface creep
(C) suspension

(D) saltation

At stage III of gully development
(A) erosion is very heavy

(B) vegetation starts growing
(C) rill formation starts

(D) the gully is
established

completely
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64. TEEIUTE 6l aEl T 1 R sl
AT 8

(A) A qe T W

(B) aat sfem it faemmarst @
(C) et qwH ! foemarsti W
(D) fe qen qee i foemaret ©

65. TR aich ¥ oM@ IAgERT |
T ITFT BT 87

(A) aat Tfd T TEtewRT
(B) ot Hidcd T THISHT
(C) hact Sl b1 THTRT
(D) <M1 i 3T |ided THtewRr

66. -1 I -1 ¥ gafad AT

-1 FA-11
a. a9l e 1. =1 EESHTH % f¥RET
4 7
b. TR B 2. AW fomiwaret
T I
c. YT 3. 3Afehan 1@ TUMT |
el A2
d. JETEEN R I 4. B R AW AE
frR (= dn) o
el
f= few T Fe W oW W EE W
EG
(A) a b c d
2 3 1 4
(B) a b c d
2 1 3 4
(C) a b c d
4 1 3 2
(D) a b c d
2 3 4 1
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(C) T & H I
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(A) a7 3w B @R ufd g wee
T STqaTe Y AT 8

(B) o HH T Wk UaTE I AT
a1feres 2

(C) vaTE A FH 7

(D) sTETe i wE A A

0-1 fHo o =@ @ w0 = v, fow
TS ST T 21 &7

(A) &g 9R

(B) e 9T

(C) T

(D) ®cew (ITeT-%S )

Tt TR o6 =wor 101

(A) e Fga AT Bl &

(B) aedfaai I et &

(C) T = famior gy 81 ST 2

(D) Teft g @& @ Tofud @ g
Fet &
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71. Box-inlet drop spillways are
recommended for areas, where
(A) short crest lengths are
required
(B) down slope channel is wide
(C) water from a reservoir is to
be removed
(D) a long crest length on a
narrow channel is required
72. Contour farming is
recommended for lands with the
slope range of
(A) 0%—1%
B) 2%-7%
(C) 7%-12%
(D) 12%—-24%
73. The capacity-inflow ratio (CIR)

for a reservoir
(A) is constant over time
(B) increases with time

(C) decreases with time

(D) remains unchanged
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74.

75.

76.

22

GET IT ON
Google Play

Piping is the removal of soil
which is located

(A) on the side of the structure

(B) near the head wall
(C) below the foundation

(D) near the sill

Trap efficiency of a reservoir is
a function of the ratio of

(A) reservoir capacity to the
total annual sediment flow
volume

reservoir capacity to the
total annual inflow volume
of water

dead storage capacity to live
storage capacity

dead storage capacity to
total annual sediment
inflow volume

Drainage coefficient is the rate
of drainage expressed as the
depth of water in centimetre
drained off from a given area in

(A) 1 hour
(B) 8 hours
(C) 24 hours

(D) 48 hours
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71. A & & fau afe-gqee g e

72.

73.

1 srgeran it el 2, et

(A) B frEn @t i v 8

(B) 7= i IR TAW ATl = Al
&l

(C) Toreht STetrer @ urHt fehrer &1

(D) TH Gl =9 W TH T
Sl TS i STTEIRAT Bl B

fre zam W Al qf % o
et it farwrfeer i STt 27

(A) 0%—1%
B) 2%-7%
() 7%-12%

(D) 12%-24%

TH JARE % U SHAr-yarE Igdd
('{3|°[033|'|'3’o3?|'|'{o)

(A) awg % @y fOr g @
(B) THA % |1 Sal ST &
(C) | % T T ST 2

(D) smftafdd war &
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75.

76.

foora

(A) FEAT % fRR W

(B) T=F &R (TS A1) & U™
(C) fia=*H=

(D) T & g

foreft STemer <t 99 qetar foheh STgaTd
%1 Teh He &7

(A) SR GHAT ¥ FoA A qerse
EEIRR:IE]

(B) SR &AWl & Sl il Hal aTfuah
Jqdtg A

(C) Td WeRW &Wal ¥ Sffed werw
A

(D) g WESRUl &Hal ¥ FHol dIuh
CRECACEIRRIE

HIATE M AYATE 1 I8 e & ol
e o S & urt s e Tend
¥, f& & for & frepren < &

(A) 1Ead
(B) 8= H
(C) 24=H

(D) 4892

(CRERETT T .- p.T.o.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

25/AGS/M-2023-05/15-A

e

77. Drainage

78.

79.

80.

of one ha-cm in

24 hours is equal to drainage of
(A) 2 Ips
(B) 1-57 lps
(C) 1-357 lps

(D) 1-157 lIps

Hooghoudt’s equation for tile
drainage is based on

(A) Chezy’s equation

(B) Darcy’s equation

(C) Manning’s equation

(D) None of the above

A soil which has exchangeable
sodium percentage above 15 and
EC of the saturation extract
greater than 4 mmhos/cm is
called

(A) saline-alkali soil
(B) non-saline-alkali soil

(C) saline soil

(D) sodic soil

84.

Herringbone pattern is seen in
(A) surface irrigation system
(B) surface drainage system

(C) tile drainage system

(D) None of the above

24
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82.
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Which of the following methods
of surface drainage is most
suited to soils that need the
combination of surface and

subsurface drainage?
(A) Parallel open ditch system
(B) Random field ditch system
(C) Parallel field ditch system

(D) Bedding system

Alidade is used in
(A) compass survey
(B) plane table survey
(C) chain survey

(D) None of the above

The observed fore bearing of a
line CD is 208°37’, its back
bearing will be

(A) 28°37
(B) 157°23
(C) 180°

(D) 237°14’

Which of the following is not

a method of plane table
surveying?

(A) Intersection

(B) Traversing

(C) Reversing

(D) Radiation
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77. dEE B H UH gEA-do Ho 81. T V-HeEl I FHfafad & @

A -Tepreft # SA-feE * wA-dt fafr 39 fufew & fau @o@
FR 2| 39 2, (W g8 ik Sugge <e-
B) 1.57 fex/d5s (A) TG geft Areft yoeht

(
(
(C) 1-357 ofter/Tehs
(D) 1-157 <fex/Tehs

(B) W &= el womet
(C) |HMIR &= ATel Joreft

78. oA Sa-TeeEl &g e, St (b) st sl
gl?%(%—looghoudt) g ot 2, 82. e T fem T 2
(A) 3w w (A) HETE HAeqor 7
(B) =t wheE ™ (B) wiH o Tl
(C) #f T W (C) = wagwr |
(D) 39w § ¥ FIE T (D) 39 § ¥ FIE T
79. = fidl, e faf wifem widea 83. UF @i CD il 3w fogwe 208°37”

15 & IW IR gy R & EC
4 fucfmr/@o Mo @ sl =@l T,

T T | gEeRT a9 fed e B

el 2 (A) 28°37’

(&) -t 4 (B) 157°23"

(B) STeravir-am f (C) 180°

(©) i fr (D) 237°14’

(D) @ifesw fa .

84. fmafafad # @ #-t wH 2o wde

80. fimE ey Jw St 1 o T e

(A) g =g woett § (A) ufcesed (3@eeH)

(B) TERT SroT-Freft sromeft & (B) fhHOl ()

(C) =ra wia-Fremdt womeht & (C) Serera (Feafdim)

(D) 3wtk # ¥ g T (D) faferor
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85. Radiation is a common method
of

(A) compass surveying

(B) plane table surveying
(C) topographical surveying
(D) None of the above

86. Centrifugal pump consumes too
much power due to which of the
following reasons?

(A) Pump speed is too high

(B) Head is lower than pump
rating

(C) Both (A) and (B)

(D) None of the above

87. The most suitable irrigation
pump to lift water from stream
or canal less than 2:5m is

(A) propeller pump
(B) submersible pump
(C) centrifugal pump
(D) jet pump

88. The pump which works while
completely being under water is
known as

(A) diesel pump set
(B) centrifugal pump
(C) submersible pump

(D) None of the above
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A suitable pump for drainage
pumping is

(A) submersible pump
(B) vertical turbine pump
(C) centrifugal pump

(D) propeller and mixed flow
pump

The stream size for furrow
irrigation usually varies from
(A) 0-1 to 0-5 liters/sec

(B) 0-5 to 1-0 liters/sec

(C) 0-5 to 2:0 liters/sec

(D) 0-5 to 2-5 liters/sec

By doubling the diameter of a

tubewell 10 cm to 20 cm, will
increase the yield of the well by

(A) 10%
(B) 20%
(C) 30%
(D) 40%

Difference between the static
water level and the pumping
water level is called as

(A) drawdown
(B) well log
(C) aquifer

(D) None of the above
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93. Lysimeter is used to measure
(A) infiltration
(B) vapour pressure
(C) evaporation

(D) evapotranspiration

94. The net amount of irrigation is
12 cm and the field efficiency is
80%, the gross amount to be
applied to the field will be

(A) 10 cm
B) 12 cm
(C) 15 cm
(D) 18 cm
95. A crop requires 4 cm of

irrigation water, if 5 cm of water
was applied to this crop, the
application efficiency will be

(A) 60%
(B) 70%
(C) 80%
(D) 90%

96. The major component of crop
water requirement is

(A) pre-sowing irrigation
(B) evapotranspiration
(C) leaching requirement

(D) deep percolation from crop
root zone
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Maximum  value of  crop
coefficient (K.), amongst the
four distinct growth stages of
seasonal crops is during

A) initial stage

(
(B) crop development stage
(C) mid season stage

(

D) late season stage

Most widely used device for
measurement of evaporation
rate is

A) USWB class-A pan

oy

) tensiometer

) lysimeter

— e e

D) hygrometer

The depth of flow over a sharp
crested rectangular weir should
not be more than

(A) half the crest width
(B) two-thirds of the crest width

(C) three-fourths of the crest
width

(D) the width of the weir

The principle of working of
a meter gate is

(A) free flow rectangular orifice

(B) submerged flow circular

orifice
(C) free flow circular orifice

(D) submerged flow rectangular
orifice
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Note : English version of the instructions is printed on the First Page of this Booklet.
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